QID : 801 - In the following question, select the related word pair from the given alternatives.
Heart : Organ ::?:?

FHAEd T4 | QT Y Fohed H H HIHd g IH % I

w2 ?

Options:

1) Bus : Vehiclews : @&

2) Car: Road

F:EgF 3)

Ship : Sea

& W

4) Train : Rail wrrs : wex

Correct Answer: Bus : Vehicle #@ : @&

Candidate Answer: Bus : Vehicle @ :
Eil

QID : 802 - In the following question, select the related word from the given alternatives.
Big : Small : : Solid : ?
TR W | T T FHET W AT 7 F =

EREARE: B
Options:

1) Metal
aa

2) Liquid
o

3) Smoke
e

4) Cold
3T

Correct Answer: Liquid
s

Candidate Answer: Liquid

QID : 803 - In the following question, select the related word from the given alternatives.
Calculator : Calculations : : Scale : ?

THAEd 99 H TC T Fehed H § Foed I8 & Y|

F A A 1 A7
Options:

1) Inchesz=

2) Centimeters
e

3) Measurers

4) Steel
=T

Correct Answer: Measure
o

Candidate Answer: Measure

QID : 804 - In the following question, select the related letters from the given alternatives.
MUFT : PXIW : : GONE : ?

FHEd 99 7 S Y Fehcd H H HelHd & 6 =0

MUFT : PXIW : : GONE : ?
) HMRL

2) ISPA
3) JRQH

4) HQRF
Correct Answer: JRQH



Options: 1

Candidate Answer: JRQH

QID : 805 - In the following question, select the related letters from the given alternatives.
PINK : TMRO : : SOLD : ?

FHAEd T4 H QT T Fohed H H HeI9d &L & I

PINK : TMRO : : SOLD : ?
Options: 1)

HQTX

2) WSPH

3) HAQV

4) AQBH
Correct Answer: WSPH
Candidate Answer: WSPH

QID : 806 - In the following question, select the related letters from the given alternatives.
SW:VA::LT:?
TG W4 T S I TheT T AT e F =T

SW:VA::LT:?
Options: 1)

NY

2) LA

3) OX

4) OL
Correct Answer: OX
Candidate Answer: OX

QID : 807 - In the following question, select the related number pair from the given alternatives.

Options:
1) 16:259

2) 13:171
3) 14:199

4) 14:195
Correct Answer: 13 : 171
Candidate Answer: 13 : 171

QID : 808 - In the following question, select the related number from the given alternatives.
42:105::38:7?
T F4 H 3 TR 7 F GAT G F 7

42:105::38:7?
Options:
1) 111

2) 135
3) 95

4) 83

Correct Answer: 95

Candidate Answer: 95

QID : 809 - In the following question, select the related number from the given alternatives.

24:39::49:7
FEATE ¥4 | 3 T T | § GG G F o)

24:39::49:7
Options:

1) 68

2) 64

3) 69



4) 79
Correct Answer: 64
Candidate Answer: 64

QID : 810 - In the following question, select the odd word from the given alternatives.

TG 99 H ST IT Fehed H € I9H o8 6 =T

Options:
1) Liver
I T

2) Intestinesm 3) Organ =11 4) Lungs % %3
Correct Answer: Organ 371

Candidate Answer: Organ 37

QID : 811 - In the following question, select the odd word from the given alternatives.

FEEET W4 7 T¢ M Fhed H § a9 W6 F =Y
Options: 1)

Black #&

2) Yellow et

3) Rainbow
Eeend

4) Pink e
Correct Answer: Rainbow
T/EY

Candidate Answer: Rainbow
TEY

QID : 812 - In the following question, select the odd word from the given alternatives.

TG W4 H S I TheT T AT 63 F =
Options: 1)

Arteries

T 2)

Veins

-4 3)

Hand &x

4) Bones

&2l

Correct Answer: Hand &

Candidate Answer: Hand &«

QID : 813 - In the following question, select the odd letters from the given alternatives.

TECRET 4 H TT T Ihed  § T &R F *HY|
Options:

1) RLF

2) MGA

3) EYR

4) HBV

Correct Answer: EYR

Candidate Answer: EYR

QID : 814 - In the following question, select the odd letters from the given alternatives.

TERET W4 7 TT T Fed H § a9 3T&R F <Y
)IR

2) KP

3) GT

4) OV

Correct Answer: OV

Candidate Answer: GT

QID : 815 - In the following question, select the odd letters from the given alternatives.

FEREd W4 7 TC T ded H § a9 &R F T
Options:

1) XTQMJ

2) FBYUR3) GCZVS

4) TPMIE

Correct Answer: TPMIE

Candidate Answer: TPMIE

QID : 816 - In the following question, select the odd number from the given alternatives.

FHAEd T4 H QT T Johed H H I €T % =G|

Options: 1) 4
=21



Options: 1

2) 7-54
3) 641
4)3-16

Correct Answer: 3 — 16
Candidate Answer: 3 — 16

QID : 817 - In the following question, select the odd number pair from the given alternatives.

THAET 99 A7 Y T Fehed A § I9H §&T IH & 94|

Options:

1) 11-17
2) 23-31
3) 43-59
4) 41-47

Correct Answer: 43 — 59
Candidate Answer: 43 — 59

QID : 818 - In the following question, select the odd number pair from the given alternatives.

T 949 7 U T Fehcd H H I9H 96T IH & I

Options:

1) 12-156
2) 13-182
3) 14-210
4) 15-230

Correct Answer: 15 — 230
Candidate Answer: 15 — 230

QID : 819 - Arrange the given words in the sequence in which they occur in the dictionary.

. Shocking
. Shiver

. Shelter

. Shorten
. Shudder

[ N VR

THAE IMeq % IeqehT H A 9l hH & HTAL i@l

. Shocking
. Shiver

. Shelter

. Shorten

5. Shudder
Options:

1) 23145

N

2) 32145
3) 14523

4) 41523

Correct Answer: 32145

Candidate Answer: 32145

QID : 820 - According to dictionary, which of the following word will come at LAST position?

1. Operation

2. Orderly

3. Openly

4. Opulent5. Oral vreess & TR, Terad

W H & H 163 § o W A7

. Operation
. Orderly

. Openly

. Opulent
. Oral
Options: 1)
Oral

[ N R

2) Orderly
3) Opulent

4) Operation
Correct Answer: Orderly
Candidate Answer: Orderly

QID : 821 - From the given alternatives, according to dictionary, which word will come at THIRD position?

WWWW“,WQ?W,WUWWWWW?

Options:
1) Passage



2) Pastime
3) Patience

4) Pathetic
Correct Answer: Pathetic
Candidate Answer: Pathetic

QID : 822 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AGM, FLR, KQW, PVB, ?
T FTFH T T E, TEH W UF IS AW €l T FHd F F T FE Fohed T, S IFHH T W

AGM, FLR, KQW, PVB, ?
Options: 1)

UAG

2) VLC

3) CGN

4) PNO
Correct Answer: UAG
Candidate Answer: UAG

QID : 823 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FROM, CNLI, ZJIE, WFFA, ?
T SR 3 T €, TR F UF T8 6 8 40 Fhed H F I8 UE qhed 7, I IR F W

FROM, CNLI, ZJIE, WFFA, ?
Options: 1)

ACNG

2) TCCX

3) TBCW

4) FRIP
Correct Answer: TBCW
Candidate Answer: ACNG

QID : 824 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series. TRO, PNK, LJG,
?, DBY U 3+ 39 T §, SAH § U UE @ gl 3¢ T I H ¥ 98 U8 ded 91U, 5 IR % T H

TRO, PNK, LIG, ?, DBY
) FBC

2) FNB
3) FRN

4) HFC
Correct Answer: HFC
Candidate Answer: HFC

QID : 825 - In the following question, select the missing number from the given series.
11,16, 21, 13, 19, 25, 15, 22, 29, 2, 25
T T4 H T T b H H AR 3 T o

11, 16, 21, 13, 19, 25, 15, 22, 29, 2, 25
Options:
1) 18

2) 17
3) 19

4) 21
Correct Answer: 17
Candidate Answer: 17

QID : 826 - In the following question, select the missing number from the given series.
2112, 2328, 2671, 3183, 2,4912
TG W4 W S M kST H H AH 3 T Hol|

2112, 2328, 2671, 3183, 2,4912
Options:



Options: 1

1) 3826
2) 3742
3) 3912

4) 3992
Correct Answer: 3912
Candidate Answer: 3912

QID : 827 - In the following question, select the missing number from the given series.
21,22,34.5,71, 180, 543, ?
TG W4 W T M ThTT T H AH 3 T Hol|

21,22, 34.5,71, 180, 543, ?
Options:
1) 1864
2) 2234
3) 2336

4) 1904
Correct Answer: 1904
Candidate Answer: 1904

QID : 828 - M is 2 years older than P. L is 2 years older than O. O's age is the average of the ages of L and N, P's age is the average of the ages of L and M and L's age is the average of
P and O. Who is the youngest?

M,Pa2wasga L, Oa2aadss s O % 3ma L 3t N % o7 & 3itad &, 3t P &% a7 L 3t M & 319 o 3ffed 3t L % o P 3t O & 31 & 3fed & o9d 82 &7 87
Options:

L

)M

3) N

4) 0

Correct Answer: N

Candidate Answer: N

QID : 829 - X said to Y that your mother's father-in-law's wife is mother-in-law of my father. How are X and Y related?

XAY@HheF A F T T Iq 6 a8 & X 3 Y TF T d & @ g 87

Options:

1) X is sister's husband of YX, Y & s # wa &
2) Xis child of Y's father's sister

X, YFWFTeA F a=a §

3) Y is father's brother of XY, X # wa % w§
4) Y is sister's husband of X

Y, XFaea®ud g

Correct Answer: X is child of Y's father's sister
X, YFmEFaeT s a=a g

Candidate Answer: X is child of Y's father's sister X, Y &
Tq o e & T §

QID : 830 - From the given alternative words select the word which cannot be formed using the letters of the given word.
GEOGRAPHIC
FAAEA T 7 H e o3 FY I T T 363 F A& F T FF T 7 o qohdl:

GEOGRAPHIC
Options: 1)
cheap

2) rogue 3)
price

4) graph
Correct Answer: rogue
Candidate Answer: rogue

QID : 831 - If BANQUET is coded as ZYLOSCR, then how will NEW be coded as?

7 BANQUET # %2 # ZYLOSCR @@ 5id 8@ NEW & &g 7 % @ g siwn?

Options: 1)
MVD

2) MDV

3) LCU



4) OFX
Correct Answer: LCU
Candidate Answer: LCU

QID : 832 - In a certain code language, 9124 means 'run around the block', 2548 means 'don’t block the path' and 4763 means 'chock a block full'. Find the code for
'the’.

¥ T2 s 99 7 9124 % 31 7 'run around the block', 2548 % 19 7 'don’t block the path' 3t 4763 % 31 7 'chock a block full'l 'the' & @¢ & 7 &

Options:

1

2)9

3) 2

4) 4
Correct Answer: 2
Candidate Answer: 2

QID : 833 - In a certain code language, '+ represents '-', -' represents 'x', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.
90x 10+25-5+50="2
G T kS W T '+, - o G HA E, -1, X' G A E, X, '+ o TEEd A § S, o e i g FEed T4 % I A

90x10+25-5+50="2
Options: 1)

81

2) 84

3) 100

4) 48

Correct Answer: 84
Candidate Answer: 84

QID:834-1f 11 @ 7=2,18 @ 0=9 and 22 @ 20 = 1, then find the value of 16 @ 10 =?

"Il @7=2,18@0=9m22@20=1,716 @ 10=2Fma=?
Options: 1) 6

2) 160

3) 26

4) 3

Correct Answer: 3



Candidate Answer: 3

QID : 835 - If A * B means A is father of B, A + B means A is sister of B and If A % B means A is daughter of B, then what does C * D % E + F mean?

WA*BFaUeH A, BFwe, A+BFauss A, BFaesim A% B#aws®s A, BemeaC*D%E+F% swg?
Options:

1) Cis F's husband

C,Fwuz

2) Cis F's wife's brotherC, F& v # wé &

3) Cis father of F

C,Fwuz

4) Cis F's sister's husband

C,Feaasms

Correct Answer: C is F's sister's husband
C,FFaa®sme

Candidate Answer: C is F's sister's husband C, F &
TEAFTE

QID : 836 -

Options:
D1

2)9
3) -1

4) -9
Correct Answer: 9
Candidate Answer: 9

QID : 837 - Which of the following terms follows the trend of the given list?
CABABABAB, ACBABABAB, ABCABABAB, ABACBABAB, ABABCABAB,
TG W H F W G T T F FAF ST

CABABABAB, ACBABABAB, ABCABABAB, ABACBABAB, ABABCABAB,
Options:

1) ABABABACB

2) ABABABCAB

3) ABABACBAB

4) ABABABABC

Correct Answer: ABABACBAB

Candidate Answer: ABABACBAB

QID : 838 - A ship starts from the port and sails 43 miles East, then it turns South and sails 17 miles, then it turns West and sails 25 miles, then it turns to its right and sails 17 miles.
Where is it with respect to the port from where it started?

Teh e UE ¥ Te W FHd € A 9 A 43 T Feid 8l U TE GE0 % AN 7ed 8 AR 17 7l Jeid 8l GAE U % A AgH 25 Ul Ferd € I B e AR AgR 17 e Feid €| S U2 9 6 e  Feid WH F9 o I 39 I
et e o TWE?

Options:

1) 18 miles West

18 wet ugm

2) 68 miles East68 wa v

3) 18 miles East

18 7@t 7a

4) 68 miles West

68 T g

Correct Answer: 18 miles East
18 wet war

Candidate Answer: 18 miles East
18 7@t 7a

QID : 839 - Two planes start from the same strip. Plane P flies 15 miles West, then turns left flies 22 miles and lands. In the meanwhile plane Q flies 7 miles South, then flies 11 miles
East, then turns to its right, flies 15 miles and lands. Where is plane Q with respect to plane P?

G W Toh § WU @ Jei SO L &l W P, 15 He 72 o i Ied § 3 w9 3wt 22 Hel 37 o 518 o€ A 8 38 G i Q, 7 Hel 0 % K 3 € 3 H 11 A u9 F 31 I 7 q B AU 7§ K AR 15 7 T F
g € Hd 8l W P % wew w e Q FE E?

Options:

1) 26 miles East

26 wet v

2) 26 miles West

26 wa wgm

3) 4 miles East

4w o

4) 4 miles West



4 7wz

Correct Answer: 26 miles East
26 7@ v

Candidate Answer: 26 miles East
26 wet v

QID : 840 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All officers are mothers
Statement II: Some doctors are mothers

Conclusion I: All doctors are mothers Conclusion I1I:
Some mothers are officers

uaqawaﬂwamwamlWllwwalmwgﬁﬂﬁmwzﬂaﬁw:aﬁvwmzﬁgwmezmmwwwuaﬂ—wﬁ—uWﬂﬁwuwt%mawg@wg,azaa—ézl

o [: vy sfwag wo g e 11 & © sxew
HTE

T |: a9 39H AU F

T 11: % ® 7 siead &

Options:

1) Only conclusion I
follows® at =y [ w8 &

2) Only conclusion 1T
follows® ae 7w [ we &

3) Both conclusions I and
11 follows 7w [ 3fiw [ 7= &

4) Neither conclusion I nor

conclusion II followsTa 7=y [ag g 7%

Ty 1

Correct Answer: Only conclusion II follows # &
Ty [ we

Candidate Answer: Only conclusion II follows & e
Ty [ we

QID : 841 - In the question three statements are given, followed by three conclusions, I, II and III. You have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All desert is jungle Statement II: All
sand is desert
Statement III: No trees are jungle

Conclusion I: No trees are desert
Conclusion II: No sand is trees
Conclusion III: All jungle is sand

W W T o 3 T € 8 30 o A5hy 1, 11 3 [T Fohet T 71 319 B § % OF U el € 98 98 SHAId; O O | T JAd 84 8| 3T AU A € o U T AR H § H-0/F-9 T2 §T ¥ U THE T o Gohd &/ €, IS

EEAd]

w1 & o e g e 11 e @
e 8 Fo 111 #E vg 5ra Te 7

T | 3 73 WU T8 B
T [ F o e T
w5 [11: a9 et @ &
Options:

1) Only conclusion [
follows® e 7wk | we &

2) Only conclusion IT
follows® aa 7w 1] e &

3) Only conclusions I
and 11 follows e 7= [ 3fw [ w2 &

4) None of the conclusions
follow @ 7=k [, Il siit [l w2 T2 &

Correct Answer: Only conclusions I and II follow = e
o | ok [l v &

Candidate Answer: None of the conclusions follow @ T=w I, IT
sl ez

QID : 842 -

Options:
)]

2)



3)

(]

4)

Correct Answer:
Candidate Answer: [ NOT ANSWERED ]

QID : 843 -

Options:
3]

2)

(]

3)
]

4)
Correct Answer:

Candidate Answer:

QID : 844 -
Options: 1)
H

2) B

3) G

4) F
Correct Answer: F

Candidate Answer: F

QID : 845 -

Options:
]

2)

[x]

3)

=

4)
Correct Answer:

Candidate Answer:

QID : 846 -

Options:
D)

2)

]

3)



4)
Correct Answer:

Candidate Answer:

QID : 847 -

Options:
]

2)

[x]

3)

]

4)
Correct Answer:

Candidate Answer:

QID : 848 -

Options:
]

2)

]

3)

]

4)

[x]

Correct Answer:

Candidate Answer:

QID : 849 -

Options:
1))

2)

[x]

3)
]

4)
Correct Answer:

Candidate Answer:

QID : 850 -



Options:
1) 76,69,01,33

2) 56,88,23,41
3) 89,56,44,02

4) 75,68,44,33
Correct Answer: 75,68,44,33
Candidate Answer: 75,68,44,33

QID : 851 - Depreciation of fixed assets is an example of

T TREFI % T 3TE € |
Options:

1) deferred revenue expenditure

T o = 2) capital

expenditure wsrTT R

3) capital gain
TS T

4) revenue expenditurew =
Correct Answer: capital expenditure Tsa =1

Candidate Answer: deferred revenue expenditure
T T

QID : 852 - Which one of the following is not a feature of monopolistic competition?

TR W Y FA-H UF I TR TG F T8 87
Options:
1) Large number of buyers and sellers in the marketerm w @weet 3R =qaa a3 vt
2) Differentiated products constitute the market
9T 379 8 a1 79d € 3) Product in the market is
homogeneous <R ¥ 33 FHITE &4 &
4) Selling costs are used for sale promotion
T GIGA F A A A % ST H A 8
Correct Answer: Product in the market is homogeneous =1 # 3w
TSI AT

Candidate Answer: Product in the market is homogeneous ¥R % 3z wHwaa
BAE

QID : 853 - What is the maximum loan amount permissible under the MUDRA Yojana?

TZ IS & ST STHFHAT 37T 0T G Fe g7

Options:
1) Rs. 50,000
50,000 w7

2) Rs. 1 lakh! @ wm

3) Rs. 5 lakh

5 w@ T

4) Rs. 10 lakh

10 w@ w71

Correct Answer: Rs. 10 lakh
10 w@ w3

Candidate Answer: Rs. 1 lakh | @@
T

QID : 854 - As per a latest classification of countries by the World Bank India now belongs to which of the following category?

I T T HT T I F TIAAH T F AT WA Ia9 T FH A0 § Faud 87

Options:
1) Upper-lower income country3=a-== 3R
et

2) Lower-middle income country

FH-TEW A I W

3) Middle-middle income countrywes &
wem @ aa gn 4) Lower-upper income
country

FH-I=A A I

Correct Answer: Lower-middle income country

FH-TE T I I

Candidate Answer: [ NOT ANSWERED ]

QID : 855 - As per census 2011, which state had the lowest sex ratio?

2011 & SUH & A, FH 59 § FHIG God FH o7

Options: 1)
Punjab s 2)



Haryana s@m 3)

Uttar Pradesh

I wew 4)

Bihar

EE

Correct Answer: Haryana g@mor

Candidate Answer: Haryana g

QID : 856 - Pluralist Theory of Sovereignty emphasizes the importance of which of the followings?

W%WWHWF{W‘T{W@WET’

Options:
1) Association
= 2) Monarch

o 3) State =1
4) Government &
Correct Answer: Association &=

Candidate Answer: Monarch &

QID : 857 - In which of the following countries the system of judicial review was originated?

WWHWWHMW&TWHSW§WH?

Options: 1)

France

w2)

Germany w3

3) USA

acan 4)

Britain

Exl

Correct Answer: USA Fzae

Candidate Answer: USA #waw

QID : 858 - Under which article of the Indian Constitution is the District Planning Commission constituted?

T FIHH T FH IFSE h A ST IS TG F TS 57 87
Options:

1) Article 243 ZD

see 243 ZD 2)

Article 244 ZD

s 244 ZD 3)

Article 242 ZD

s 242 ZD 4)

Article 243 ZE

ese 243 ZE

Correct Answer:
Article 243 ZD
=g 243 ZD

Candidate Answer: [ NOT ANSWERED ]

QID : 859 - Which kind of majority is required for constitutional amendment in forming a new state?

T T T5F I | GIUHF GG F A F G qgAd T907

Options: 1)

Simple @ewor 2)

Two-third a-ae¢

3) Three-fourth

-

4) Two-third plus ratification by half of all states g-we$ ta s
9 & IR

Correct Answer: Simple @err

Candidate Answer: Two-third z-ags

QID : 860 - Which officer of the Government of India has the right to take part in the proceedings of parliament of India even though he is not a member?

T TR FA-H STHL GG T & g WG G F Hade 7 97 O o IR W@d 87
Options:

1) Vice-Presidentst wua

2) Attorney General of Indiaw@ &

A A

3) Comptroller and Auditor General
T g weerd war 4) Election

Commission =& 3

Correct Answer: Attorney General of India s & s1e7
Eaic



Candidate Answer: Attorney General of India @ % 37t
Eaic

QID : 861 - The term 'Stupa' is associated with which of the following event of Gautam Buddha’s life?

T’ Y67 AW TG, F T & AAEd FE HeA § TEd 87

Options:
1) Death
o

2) First Sermony#w 392w 3) Birth =
4) Renunciation Te-wrt
Correct Answer: Death 7er

Candidate Answer: Renunciation
TE-eT

QID : 862 - Who was the last ruler of the Gupta Dynasty?

TH &1 F A I FA 47
Options: 1)
Puru Gupta v

2) Vishnu Gupta
o T

3) Skanda Gupta® g
™

4) Kumar Gupta® =
™

Correct Answer: Vishnu Gupta
T T

Candidate Answer: Kumar Gupta
% W

QID : 863 - Where was Guru Govind Singh educated and learnt Persian? & ma= @& %
1T e g IR I T FE T U7

Options: 1) Lahore
= 2) Amritsar
smaat 3) Patna wed 4)

Anandpur Sahib
AT TET

Correct Answer: Anandpur Sahib sem
asl

Candidate Answer: Anandpur Sahib smew e

QID : 864 - Which of the following was the precursor of Indian National Congress?

TG 0 T T 1T FIF & T a7 47

Options:

1) Servents of
Indian Societysaw i 3877 w6se
2) Indian
Associationzvead vEETeE

3) Indian National

Unionzvezm #wme 77 4) Indian

League gveam @

Correct Answer: Indian Association 3vea Ta@ue
Candidate Answer: [ NOT ANSWERED ]

QID : 865 - During which governor general's time was the annexation of Sindh in British State done?

S TR S o TR W A % Jod <9 50 6 17
Options: 1) Lord

Dalhousie @ s@@st 2)

Lord Chelmsford &=

s 3) Lord

Ellenborough @€ temer

4) Lord Hastings
T T

Correct Answer: Lord Ellenborough @€ temer
Candidate Answer: [ NOT ANSWERED ]

QID : 866 - What is the second most abundant element on Earth's crust?

T % e H WA (FEC) T 3o THL o T a7

Options: 1)
Carbon



Fa 2)

Silicon

AR 3)
Oxygen
S 4)
Hydrogen =ss
o)

Correct Answer: Silicon
FEART

Candidate Answer: Silicon
FeART

QID : 867 - What is called a shallow stretch of river that may be crossed on feet.?

T F T U TER S GG T TS R F G, Feerd &7
Options: 1)

Ford = 2)

Atoll w 3)

Reef wea 4)

Lagoon

e

Correct Answer: Ford %

Candidate Answer: Lagoon
i

QID : 868 - Which among the following is a cold-dry wind?

TG W H FA W F I I 97 77
Options: 1)
Hurricane &%
7 2) Tornado
g 3) Bora s
4) Cyclone w57

Correct Answer: Bora
B

Candidate Answer: Bora
ks

QID : 869 - The man-made reservoir Gobind Sagar located in Bilaspur is situated in which of the following states?

TAT AU FAS THA AT TGS TR Fer@d H 6 F6 F 7 o9d 87

Options: 1)
Uttarakhand

sawgve 2) Uttar
Pradesh

IW e 3)

Punjab =

4) Himachal Pradesh
T WawT

Correct Answer: Himachal Pradesh
T Yaw

Candidate Answer: Uttarakhand swwavs

QID : 870 - Which among the following rivers does not flow from East to West?

TEHEd 0 ¥ F-H 7 T4 § U2 % AR T8 T8 €7
Options: 1)

Narmada 7

2) Tapti @@

3) Cauvery

R 4)

Mabhi w8

Correct Answer: Cauvery
R

Candidate Answer: Tapti
@

QID : 871 - Which of the following historical monument has been chosen as a "Swachh Bharat Icon" by the Union Government on November 21, 2017.

21 Faer, 2017 & Frieiad 7 F6 Udedsh & % a5 T 7 "wws 9id e % §9 T F97

Options:

1) Haveli
Dharampureaa g7

2) Charmina

= 3) Amaravati
smead 4) Vishwa
Bharati



ECE ol
Correct Answer: Charminar R
Candidate Answer: Amaravati sweaa

QID : 872 - As per a recent announcement, where will India's first Electronic Manufacturing Cluster (EMC) come up?

T E T F TS YT F S A P YT FEFAR T Fo0T Freed (3TEH) F AW FE F w7

Options:

1) Andhra
Pradeshzt wrawr

2) Maharash
trave®

3) Rajasthan
weF 4) West Bengal gem
Bl

Correct Answer: Andhra Pradesh
ST aT

Candidate Answer: [ NOT ANSWERED ]
QID : 873 - Which of the following is a multilevel global campaign to spread awareness about importance of girl’s education?

m%mﬂ%m%mwmmm%mqumaﬁmm—vz’?

Options:

1) Girl Risingat
T

2) Most Important
Part of Our Life: Girlsew s &
HeH 3TeH § slclsh

3) Save Girls:

Educate Girlssers s=a: s =

4) Education of Girls st %

&

Correct Answer: Girl Rising & w&sit

Candidate Answer: Save Girls: Educate Girls s sr=rr: ses
el

QID : 874 - Which country will host the Summer Olympics 2020?

7o Siicgsh 2020 & eeH F 6 39 7

Options:
) Q

atarsat

2) T

okyoz 3)

Rome w 4)

Jakarta sa

Correct Answer: Tokyo =

Candidate Answer: Tokyo

QID : 875 - Which of the following sportsperson is not correctly matched with their respective discipline?

TG § E FHE IS & Tel I Tl § FHeAd T8 87
Options:

1) Jitu Rai : Shooting 5@ @ : w1 2)

P.V. Sindhu : Badminton w.3. &4 :

aened 3) Sakshi Malik : Boxing @t

w@e : a@at 4) Deepa Karmakar :

Gymnastic 39 FH ; TEH

Correct Answer: Sakshi Malik : Boxing @& wems :
Ectul

Candidate Answer: Sakshi Malik : Boxing @& we :
T

QID : 876 - “A Better India : A Better World” is written by

‘IR 3T YT qeE F 1T T Bl
Options:

1) Arun Jaitley swor

sz 2) Aamer

Hussein sm gav

3) N. R. Narayan Murthy

. sim. 7@ 7d 4) C. Raja

Mohan @. & wet

Correct Answer: N. R. Narayan Murthy . sm.
T T

Candidate Answer: N. R. Narayan Murthy . 1R.
AT AT



QID : 877 - Which among the following has won the Nobel Prize for Chemistry in October 2017?

THEEEd ¥ ¥ FE o7her 2017 7 W 16 & ¢ T9e WER 5 d 87
Options: 1) Jacques
Dubochet s sz 2)

Joachim Frank sterrem
F

3) Richard Henderson
T T

4) All options are correct.®+ J&eq Hg &l

Correct Answer: All options are correct.
[ THT T B

Candidate Answer: All options are correct. &5 a%eq &8
@l

QID : 878 - On birth anniversary of social reformer Basavana how many volumes of Vachana were released by Narendra Modi in April, 2017?

a1yt 2017 7, T6% UE T GHS TULeh S8 % STAT T T9H F ha TR ST HT g7

Options:
1) 21

2) 20
3) 23

4) 25
Correct Answer: 23
Candidate Answer: 21

QID : 879 - In May 2017, with which country India has signed an agreement on Maritime Security?

g 2017 W, 9 7 9 a9 % T THZ GUE F THd W SEde HY g7

Options: 1)
Sri Lanka
Esid

2) Bangladesh

waw 3)

Mauritius 7

4) China =7

Correct Answer: Mauritius 7=

Candidate Answer: Mauritius w=®

QID : 880 - Which neighbouring country of India measures prosperity by gauging its citizens’ happiness level?

T % 9 G ISH I UG % A TRF F @Y & TR AT 87

Options: 1)
Pakistan
TR 2)
Nepal 7w 3)

Sri Lanka
PrEd

4) Bhutan wex
Correct Answer: Bhutan e

Candidate Answer: Bhutan e

QID : 881 - In which communication mode, data can be transmitted in both directions at same time?

G GO F Y 7 T o TR Gh §H & GUIl § G9e & 87

Options:
1) Simplex
e

2) Full duplexwor
ke

3) Half duplexsta
< 4)

Multiplex
HoZ&dH

Correct Answer: Full duplex ot waa

Candidate Answer: Multiplex
TR

QID : 882 - The computer program that converts assembly language to machine language is called

e F I T ST IR WY & WY 99 H SR H g, FEerd &l
Options: 1)

Complier

FER 2)



Interpreter
T

3) Assembler
R 4)

Comparator
T

Correct Answer: Assembler smwrer

Candidate Answer: Interpreter
FEX

QID : 883 - Which is a base metal of amalgam alloy?

STHAH WA F AT O F 9 87
Options: 1)

Aluminium

TEHTA 2)

Mercury @

3) Copper

@@ 4) Zinc

Eisl

Correct Answer: Mercury ™

Candidate Answer: Mercury
w

QID : 884 - Which of the following is the structure of graphite?

TG 0 ¥ F ° THIE F 0= 87
Options:

1) Rigid three-dimensional g&
3rm 2) Hexagonal wesora

3) like

Football® zeet s/

4) No option
is correct.#% I WE I8
El

Correct Answer: Hexagonal wesora

Candidate Answer: Hexagonal wesorr

QID : 885 - A wooden spoon is dipped in a cup of ice cream. Its other end will

THS F U T & SAGHHA F A H ST T FF |
Options:

1) become cold by the process of conduction =@

9 % 138 & 9wt 2) become cold by the process of
convection Hae W5hT % T 3 & ST

3) become cold by the process of radiation

T W T 38 & T 4) not become

cold zg 7= &1

Correct Answer: not become cold = 7z &1

Candidate Answer: not become cold 3z 7z &1

QID : 886 - Which acid is the most abundant acid found in grapes?

TR T e T A H HA F A 9 54 87
Options: 1)

Oxalic acid

e TR 2)

Ascorbic acid

e 3R 3)

Tartaric acid et

37 4) Formic

acid wwe v

Correct Answer: Tartaric acid zet 3wt

Candidate Answer: Tartaric acid et
Eis]

QID : 887 - The splitting of white light into its component colours is called

A T F I FIAT AU T A FEd &8l
Options:

1) diffraction

aad 2)

refraction

Foaad 3)

dispersion
Bkl



4) scattering Y
Correct Answer:
dispersion

Fa

Candidate Answer: scattering
THE

QID : 888 - Which of the following statements are CORRECT?

1. Change in magnetic field produces induced current.
1. Flow of current in a conductor produces magnetic field.
III. Magnetic field related to coil can be produced by motion between conductor and coil.

FATEd W W F G FAT 87

1. = &= W REad ¥ W 9T 39 & 8l

II. = 7 yaed R 999 & 309 F 8l

111, = vea & Gaud FeFd &, =T a2 % USdl & Hed HTI&d Td & 0T 8 Gohd a8l
Options:

1) Only I and IT

waa [aw [12) Only I and Il %

a@ L aw 111 3) Only II and III %

aa 11 @ 111 4) All statements are

correct. ¥ FI e Tl

Correct Answer: All statements are correct. @ Fo9 @8
@l

Candidate Answer: Only IT and III & == II

ax [T

QID : 889 - Which gas is used as a fuel in a rocket?

T T H 369 & §T H & G T o I9IT FF 5 &7
Options: 1)

Radon w1

2) Hydrogen

ws W 3)

Chlorine
o

4) Nitrogen 7ges
Correct Answer: Hydrogen &se 5=
Candidate Answer: Hydrogen &sg 5=

QID : 890 - Which of the following is good insulator?

THAEd § ¥ G 9T F a0 F1 9 8
Options: 1)

Mercury @

2) Cadmium =

ue) 3)

Germanium

s 4) Glass

w9

Correct Answer: Glass &=

Candidate Answer: Glass &=

QID : 891 - Which is the most abundant Vitamin found in carrot?

TSR W Hed e’ 0 | bl | qH 9 5 &7
Options:
1) Vitamin Agera A
2) Vitamin Baema B
3) Vitamin C
e C
4) Vitamin D
Fem D
Correct Answer: Vitamin A
T A
Candidate Answer: Vitamin B
Tz B

QID : 892 - How the rate of absorption of water through roots can be increased?

g o WEAW H ST & TGV F R H I¢T F Gehd &7

Options:
1) Keeping the plants in the shade
g % B T TEH



2) Keeping the plants in the dim lightae % =g wer
L RscEa

3) Keeping the plants under the fanva & va % 7=
@
4) Covering the plants with a polythene bagra %
T T GHH
Correct Answer: Keeping the plants under the fan va % wa & 1=
@

Candidate Answer: Covering the plants with a polythene bag 79 % ez &
FHFR

QID : 893 - A spore producing plant is

AU I A T T 9T T El
Options: 1) rose
e 2) bread

mould
TS FE

3) p
otatose

4) gi

NEr3feTH

Correct Answer: bread mould ssere =
T

Candidate Answer: bread mould ssere
FEFT

QID : 894 - Which chromosome is responsible for manliness in man?

TEY H TN % 6 A § 0 GASH I 87

Options: 1)
X0

2) YO
3) XX

4) XY
Correct Answer: XY
Candidate Answer: XX

QID : 895 - The human eye forms the image of an object at its

T T W T F JAa S g
Options: 1)

cornea F

2) iris

T 3)

pupil @&

4) retina

qEIed

Correct Answer: retina geaea

Candidate Answer: retina
qeuest

QID : 896 - Which of the following is NOT a multicellular organism?

TG 0 ¥ A H T Sg-HIHA A A€

Options:

1) Fungi®a=s

2) Spirogyra

TR 3)

Hydra g5

4) Paramecium wwewm

Correct Answer: Paramecium wrm

Candidate Answer: [ NOT ANSWERED ]

QID : 897 - Which disease is caused by cadmium metal pollution?

% SHAH I % VG | A F T & &7

Options: 1)

Minamata

wwa 2) Itai-

Itai seé-ge 3)

Asthma

s

4) Dermatitis qegea

Correct Answer: Itai-Itai szé-5ef



Candidate Answer: Dermatitis gacseq

QID : 898 - Which of the following is an organic gas?

TR § A F ° T G g

Options: 1) Carbon

dioxide == s33itauss 2)

Carbon monoxide s

wsitamse 3) Ethylene

dichloride waem S5

4) Nitrogen dioxide Tsesm

KEEIEEES

Correct Answer: Ethylene dichloride torem =55
Candidate Answer: Ethylene dichloride waem s55e

QID : 899 - Basel Protocol is related to which of the following?

T YeH TR T F Hag gaud 87

Options: 1)
Ozone layer
S T

2) Burning of forestsa %
Esa

3) Sea water pollutionawz
<@ % wawor 4) Trans-boundary
hazardous dumping @@= 7wTE w@" F
TR T

Correct Answer: Trans-boundary hazardous dumping & 1o 7es &
TR T

Candidate Answer: Ozone layer 3=
o

QID : 900 - Which of the following is parasitic food chain?

TG H H F W G 5T 87

Options:

1) Trees — Fruits eating birds — Lice and bugs a& — %a

T 9@ 9af — & 99 %3 2) Grass — Rabbit — Fox — Tiger

o9 — @O — @g — 39 3) Grass — Grasshopper —

Frog — Snake — Hawk #8 — 2 — wg&% — @1 — a5 4)

Phytoplankton — Zooplankton — Fish — Hawk wev e

—> U e — FA —> &

Correct Answer: Trees — Fruits eating birds — Lice and bugs s& — %
T A 9 — T FS

Candidate Answer: Trees — Fruits eating birds — Lice and bugs a& — % &=

I 9 — 5 T FS

QID : 901 - The S.I unit of electrical energy is

T T F F THLITE. T k|
Options:
1) Watt 72

2) Volts
i

3) Ampere
wRR 4)
Joule sie

Correct Answer: Joule s&@

Candidate Answer: [ NOT ANSWERED ]
QID : 902 - Which one of the following is the CORRECT expression for the heat generated in a conductor?

TG H W FA H AR 7 3G IV IS F A€ AT 87

Options:
D)

2)

3)

4)



Correct Answer:

Candidate Answer:

QID : 903 - Which one of the following statement is TRUE?

TARAFA G FFAE!

Options:

1) The equivalent resistance in series combination is larger than the largest resistance in the combination.

TG FASH F GHAC T, IS % Hed 98 Yad § a9 & 8

2) The equivalent resistance in series combination is smaller than the largest resistance in the combination.

G TS F HHACT T, FISH % Fordl 9 kel § B &4 3

3) The equivalent resistance in series combination is equal to the smallest resistance in the combination.

G TS F FHACT T, FISH % Fordl B¢ Jowel % e & 2

4) The equivalent resistance in series combination is equal to the largest resistance in the combination.

TG FASH F GHACH T, FISH % Hed 8 Jaldl & aeR & gl

Correct Answer: The equivalent resistance in series combination is larger than the largest resistance in the combination.
TG TASH F GHAC T, IS % Hed 98 Yatd ¥ o & 8

Candidate Answer: The equivalent resistance in series combination is larger than the largest resistance in the combination. srae ¥ & T Tatd,
TS % H o T T A & @

QID : 904 - The resistivity of a conductor depends upon

TIFF IR WP
Options: 1)

pressure 3= 2)

temperature o

3) degree of illumination

e & 74 4) shape of cross-

section ST & F T

Correct Answer: temperature o

Candidate Answer: temperature =

QID : 905 - Determine the energy (in J) stored by a 0.4 H inductance, if the current flowing through it is 2 A.

% 0.4 TR F Tehed T TUET S (S H) TERA &, I8 I 2 TR & I8 I oK 98 & 8
Options:

1.6

2) 0.8

3) 04

4) 1.4

Correct Answer: 0.8

Candidate Answer: 0.8

QID : 906 - What will be the voltage (in V) across a 8 H inductor, when the rate of change of current in the inductor is 0.5 A/sec.

8 T F W 7 Fees (AeT 7) T, IS WF 7 98 Aq o Waad « 0.5 wr/aw s w
Options:

12

2) 6

3) 4

4) 8
Correct Answer: 4

Candidate Answer: 4
QID : 907 - What will the equivalent capacitance (in mF) of three capacitors connected in a series having capacitance of 0.04 mF, 0.08 mF and 0.02 mF respectively?

0.04 7a1-% 72, 0.08 7a-% 12 3R 0.02 7d-% 1S % A F 4G 7 IS T A F GA0cd HRd (F-% T 7) 7

Options:

1) 0.026

2) 0.032

3) 0.065

4) 0.011

Correct Answer: 0.011
Candidate Answer: 0.011

QID : 908 - Determine the voltage (in V) of a battery connected to a parallel plate capacitor (filled with air) when the area of the plate is 10 square centimetres, the separation between
the plates is 5 mm and the charged stored on the plates is 20 pC.

TF FHAGE I (T | W) A T S TH F Fee (I H) TR T e b &7 10 T HA., T F 79 F 3 5 At R e T wed = 20 T F o 8

Options:
1) 123

2) 103



3) 113

4) 143
Correct Answer: 11.3
Candidate Answer: 11.3

QID : 909 -

Options:
12

2) 1
3) 4

4) 3
Correct Answer: 1
Candidate Answer: 1

QID : 910 -

Options:
1) 80

2) 40
3) 60

4) 30
Correct Answer: 80
Candidate Answer: 80

QID : 911 - Which one of the following statement is TRUE?

TARTFA G FFATLS

Options:
1) Kirchhoff’s law is not applicable to circuits with passive elements.
FAF & T T I a1 TS F T T TE & 2

2) Kirchhoff’s law is not applicable to circuits with lumped parameters.
FLAF F TAH I T ATS TH F Y T T8 &4 2

3) Kirchhoff’s law is not applicable to circuits with non-linear resistances.
FTAF % T T TG TG F WA F T T T8 & 2

4) Kirchhoff’s law is not applicable to circuits with distributed elements.
FTAF % T AR A qA WA T AT T8 & 8

Correct Answer: Kirchhoff’s law is not applicable to circuits with distributed elements.
T o I AT e F T 0 T TE & 2

Candidate Answer: Kirchhoff’s law is not applicable to circuits with distributed elements. =% % 7w Fad ae
e TIY T AT 7 7 @

QID : 912 - Which one of the following is a passive element to an electrical circuit?

FHHIT | | F 98 I T F AT Tk 79 qd 87

Options:

1) Current source
a2 7d @ d 2) Voltage
source e @ 3)
Resistor wawer

4) Battery sex

Correct Answer: Resistor
R

Candidate Answer: Resistor
R

QID : 913 - Which one of the following is the mathematical expression of Ohm’s law?

TG 0 | % § A9 % T % T0qd 50 87
Options:

1) V=1

2) V=R/I3)V=I-R

4)V=IR

Correct Answer: V=1R

Candidate Answer: V =1R

QID : 914 - Determine the current (in A) that flows through a 15 ohms resistance, when the potential difference between the terminals of the resistor is 60 V.

92 I o (TP W) TERA A 15 3 Tt & W | 98d €, S Y & e & a9 aees 3 60 aee @

Options:



D3
2) 4
3)2

4) 6
Correct Answer: 4

Candidate Answer: 4

QID: 915 -

Options:
1) 84

2) 96
3) 75

4) 6.5
Correct Answer: 7.5
Candidate Answer: 7.5

QID: 916 -

Options:
13

2) 2
3) 4

4) 6
Correct Answer: 3
Candidate Answer: 3

QID : 917 - Determine the power (in W) dissipated by a 16 ohms resistor, when the potential difference between the ends of the resistor is 32 V.

T 16 3 T T &9 9 I e % TR (92 T) L, ST Jo % 37 o 5T Feest Tl 32 I 8l

Options:Options: 1)
2)
3)

4)

1) 66
2) 68
3) 62

4) 64

Correct Answer: 64
Candidate Answer: 64
QID : 918 -

Correct Answer: 10
Candidate Answer: 20

QID: 919 -

Options:
1) 033

2) 0.85
3) 1.21

4) 2.54
Correct Answer: 1.21
Candidate Answer: 2.54

QID : 920 -



Options:
1) 0.79

2) 0.43
3) 0.45

4) 0.64
Correct Answer: 0.79
Candidate Answer: [ NOT ANSWERED ]

QID : 921 - Which one of the following is the S.I. unit of magnetic field strength?

wnvﬂwmsﬁmaw.aﬁ sih?ﬁ"

Options: 1) Weber
TR 2) Tesla z 3)
Ampere-meter
TIR-AR 4)
Ampere/meter Tt
/=

Correct Answer: Ampere/meter T /
T

Candidate Answer: Tesla 2

QID : 922 - Which one of the following is the CORRECT expression for magnetic susceptibility?

THTEd 0 | F § o Gag9ard % o0 § A 87

Options:
b

2)

]

3)
[x]

4)
Correct Answer:

Candidate Answer:
QID : 923 - Which one of the following is the CORRECT value of magnetic permeability in free space?

G SATE | =y TG & § 0o T A H & 87

Options:
1))

Correct Answer:

Candidate Answer:

QID : 924 - If the magnetic susceptibility of any material is less than zero then the material is

I3 FH 9 92T F FH FIANAd I § FA € T T T 2
Options: 1)

paramagnetic

IR 2)

ferromagnetic

e 3)

diamagnetic

am  wEE 4)

ferrimagnetic %

wF

Correct Answer: diamagnetic
I T



Candidate Answer: ferrimagnetic % We#

QID : 925 - Determine the reluctance (in Amp-turns/Wb) of a coil, when the flux through the coil is 15 Wb and the produced mmf is 30 Amp-turns.

% Tl W JAURY (TRIAT-2/ae W) T H, e F Sl % Fordd 15 e 3R Seqad wHeAeE 30 w2 7l
Options:

1) 4

2)2

3)1

4) 3
Correct Answer: 2
Candidate Answer: 2

QID : 926 - Determine the value of produced mmf (in Amp-turns) in a coil, if the coil has 120 turns and carrying a current of 0.1 A.

%A d 120 73 3t 3z 79 =1 0.1 TR § T % S ° 370 UHUATE F Hed (TWRR-Z W) TERT F
Options:

1 12

2) 14

3) 16

4) 18
Correct Answer: 12
Candidate Answer: 12

QID: 927 -

Options:
1) 1240

2) 1265
3) 1260

4) 1230

Correct Answer: 1230

Candidate Answer: [ NOT ANSWERED ]

QID : 928 - Determine the magnitude of EMF (in V) induced between the axis of rotation and the rim of the disc, when the disc of radius 10 cm rotates with an angular velocity of 60
revolutions per second and placed in a magnetic field of 3 T acting parallel to the rotation of the disc.

U % 3T 3 SER % T & o9 WA 3.00.Th. o WA & (I W) ToRd F, 5ol 1 () GeHet 757 I <6k 60 TERA I T S % HU S ok G THG § I 3 T F GAAR FoIhd & H T 5 8

Options:

1) 6.69

2) 4.64

3) 6.67

4) 5.65

Correct Answer: 5.65

Candidate Answer: [ NOT ANSWERED |

QID : 929 - What will be the value of current (in A) in a 50 cm long air-core solenoid, if the value of magnetic field at the center of the solenoid is 5 mT and the solenoid has 300 turns?

T 50 9.9, T T GOHES 7 9¢ Aq O F Ao (TR W) T, I YOS F o X W A9 & % Hed 5 -2 € iR gege 7 300 wee?

Options:
1) 6.63

2) 5.63
3) 436

4) 8.25
Correct Answer: 6.63
Candidate Answer: 6.63

QID : 930 - Determine the maximum flux density (in T) of a material having eddy current coefficient of 2, thickness of 4 mm, volume of 20 cu. meter, which is supplied by a frequency
of 50 Hz when the material has eddy current loss of 6 W.

e % STHRAT FAH T (T 7) T L, ST TE 98 I ¥ M0k 2, 4 Heawet & 7es, 20 O H F S ©, SEek S0 TS o AT F I F W § AW T FE I e 6 a7

Options:
1) 2.24

2) 3.34
3) 1.94

4) 121

Correct Answer: 1.94



Candidate Answer: 1.94

QID : 931 -

]

Options: 1) 0
2) 12.74
3) 14.14

4) 18.02
Correct Answer: 14.14
Candidate Answer: 14.14

QID : 932 - What is the peak-to-peak value of a sinusoidal voltage (in V) having average value of 100 V?

T AT A & IR H IR F I (I H) § ¢ 39 v 77 100 Fwe 77
Options:

1) 141.44

2) 159.98

3) 282.88

4) 313.97

Correct Answer: 313.97

Candidate Answer: 313.97

QID: 933 -

Options: 1)
30

2) 56.94
3) 75.68

4) 88.42

Correct Answer: 88.42

Candidate Answer: [ NOT ANSWERED ]
QID : 934 -

Options:
nHo

2) 1
3) 2

4) 4
Correct Answer: 2
Candidate Answer: 2

QID : 935 - Calculate the phase angle between the voltage and current phasor of a series RL circuit having resistance of 65 Ohms and inductive reactance of 37.53 Ohms when supplied
by a frequency of 60 Hz.

60 T F AT F T A T FEel AR, WAL S0 65 377 % Fawer 3K 37.53 37w o T a3 &, T dees AR 98 I 9K o o< % 6 51 ol o 70 )
Options: 1)

15

2) 30

3) 45

4) 60

Correct Answer: 30

Candidate Answer: 30

QID : 936 - Calculate the value of resonant frequency (in kHz) of a tank circuit having capacitance of 0.01 mF and inductance of 0.01 mH?

0.01 7e1-% 8 % =Ra 3t 0.0 7e-aR % Webed & 25 TIY & L AT F Hed F A (Fel-gest 1) F?
Options:

1) 0.1591

2) 1.591

3) 1591

4) 159.1

Correct Answer: 15.91

Candidate Answer: 0.1591

QID : 937 - Calculate the induced emf (in V) in the inductor of a series RL circuit having inductance of 1.8 H and resistance of 90 Ohms after 20 milli-seconds, when supplied by a 20
V DC source.

20 7T-8% T F w8, 1.8 & & Tebed 3T 90 37 & Fee I @ ST TAY h Tk H T STAT F A (T2 H) e o F 20 Fe2 % 6 7 T 370ad F4 54 @



Options:

1) 7.36

2) 10.03

3) 14.76

4) 20

Correct Answer: 7.36

Candidate Answer: [ NOT ANSWERED ]

QID : 938 - A delta connected 3-phase circuit has three equal resistances of 36 Ohms in each phase. What is the value of per phase resistance (in Ohms) of the equivalent star connected
circuit?
3% S BT WA F Weah F W 7 36 S F SHEl Yevel 8| WHeed T WIS % AT F S F Y@ F 7ed (3w ) 77

Options:

1) 12

2) 36

3) 84

4) 108

Correct Answer: 12
Candidate Answer: 12

QID : 939 - Calculate the power factor of an AC circuit having an impedance of 16 Ohms, if a 4 A current flows through it and its average power consumption is 200
W.

16 @i % Teh el et Yeded UL U % Ik 07 % M L, € WO H 4 T 9% I o7 € N 36 Sitad 9% g @ud 200 92 7l

Options:
1) 0.68

2) 0.78
3) 0.88

4) 0.98
Correct Answer: 0.78
Candidate Answer: 0.78

QID : 940 - Power consumed by a balanced star connected 3-phase load is measured using two-wattmeter method. The phase voltage and phase current in the load is 220 V and 10 A
respectively. What will be difference in reading (in W) of the two wattmeter, if the power factor of the system is 0.8 lagging?

3-% & o ¥ ST Haed WX T 98 I W & @4 3-JeHR T § 7Y S 8 oS H 6 F Feest 31 F o gacd = 5w 220 I 31 10 TR 7 § FeHe & W H (FE H) IR &, I8 It F Ik o7k 0.8 i g?

Options:
1) 2286.3

2) 2861.2
3) 3048.4

4) 3810.5
Correct Answer: 2286.3
Candidate Answer: [ NOT ANSWERED ]

QID : 941 - Which of the following is the dimension of capacitance?

THTI W | & § Hd F ATIH 87

Options:
)]

2)

]

3)
]

4)

]

Correct Answer:

Candidate Answer:

QID : 942 - A house has 5 fans of 70 W each that operate for 16 hours a day and one washing machine of 2000 W that operates for 1 hour per day in the month of June. What is the
energy consumption (in kWh) of the house in the month of June?

WA 70T F S5 @ T /A 16 52 %7 Hd g 3 2000 T2 % Teh 9907 B & § 5H % Hed 0 | 9 0 & FH Fd 8| 5 % He H = % e @4 (Fer-aedm 7) 77

Options: 1)
228

2) 235.6



3) 350

4) 486.6
Correct Answer: 228
Candidate Answer: 228

QID : 943 - APMMC type voltmeter, having a full scale reading of 250 V and an internal resistance of 400 kilo-ohms, is connect with a series resistance of 100 kiloohms. Calculate the
sensitivity of the voltmeter (in Ohms/Volts).

T TUHTH 239 deeHe, S 250 e % 907 Hueh W@ 3 400 Fe-3AH F AT Fowe 7, 56 100 -3 F Th T F § 4G T S S 8 TeeHel & FagAIerd % M (3eH / Jeed |)
Options:
1) 2400
2) 2000
3) 20000

4) 24000
Correct Answer: 2000
Candidate Answer: 2000

QID : 944 - Determine the percentage voltage error of a potential transformer with the system voltage of 11,000 V and having a turn’s ratio of 104, if the measured secondary voltage is
98 V.

11,000 T % Yuret Ieest % 9 Uk GeIrae THHH & Ta9 deest ¢ & Tutd 99 104 & 7 3FHud & T a4 geest 98 e 7l
Options:
1) 7.35
2) 5.75
3) 6.25

4) 8.84
Correct Answer: 7.35

Candidate Answer: 7.35
QID : 945 - A circuit having power factor of 0.8 consumes 40 W. What will be the value of reactive power (in VAR) of the circuit?

0.8 % 3 Mok I W 40 92 IRF F @G G 8 I F A Ik & Aol (JUAR /) T7
Options:

1) 20

2) 40

3) 30

4) 10
Correct Answer: 30
Candidate Answer: 30

QID : 946 - Determine the phase angle (in degrees) of a balanced 3-phase star connected system, if the first and the second wattmeter show readings of 200 W and 1200 W respectively.

T HAAq 3-F S T e WO % F  HU F (ST W) TeRA H, I8 Tael S To qehet 7eX & Te7 shaer 200 7 3 1200 92 =1
Options:

1) 51

2) 65

3) 78

4) 84
Correct Answer: 51
Candidate Answer: 51

QID : 947 - Which one of the following statement is NOT true about PMMC type instruments?

TUHCHH Yo SR ok S H A T 6 o § H9 68 7 87

Options:

1) PMMC type instruments have uniformly divided scale.

JUHUHE Yo 3 SUHT H T &Y § a9siq 799 &4 gl 2) These instruments are

suitable for both AC and DC currents.
I IR Tad 3R I R T & T I @

3) Stray magnetic errors are small in these types of instruments.
T T % ITHOT H II9E Fa Fed 4 &d @ 4) The cost of PMMC
instruments is high. Jeaur ST % A T B

Correct Answer: These instruments are suitable for both AC and DC currents.
I IR Tad 3R I R T & T I @

Candidate Answer: These instruments are suitable for both AC and DC currents. ¥ 90T T
3R 3T R T % Y 3T @

QID : 948 - Which one of the following instrument can measure voltage, resistance, and current?

TET T F A T U T, TR R I8 Id SR F 09 Hehd 87



Options: 1)
Ammeter tHe
2) Voltmeter
FeeHe 3)
Multimeter
weeHe 4)

Wattmeter
FEHR

Correct Answer: Multimeter weeret

Candidate Answer: Multimeter #eewet

QID : 949 - Which one of the following is the CORRECT expression for voltmeter sensitivity of PMMC type instrument?

JUHUHY Yo ST F FeeHel Hagasiard % oC THerdd 0 6 % 6 SHF0 6 87

Options:
3]

2)

(]

3)
]

4)

]

Correct Answer:

Candidate Answer:

QID : 950 -

Options:
1) 70, 60

2) 80,70
3) 80, 60

4) 60, 80
Correct Answer: 80, 70
Candidate Answer: 80, 70

QID : 951 - For a dc machine shunt resistance and armature resistance values are

de 79T o T e Jwer S S J F 7 7 87
Options: 1) high

and high s== sft

F=4 2) high and

low 3= 3ft = 3)

low and low ==

s = 4) low and

high =7 3t 3=

Correct Answer: high and low 3= sfit

=

Candidate Answer: high and low 3== 3ft
e

QID : 952 - If the field of a dc shunt motor gets opened while the motor is running, then the

T F Fed 99 dC T X F & T S W

Options:

1) motor will become slow.

A 99 & ST

2) motor will attain dangerously high speedwet s 7@ 359 W@ &
T T

3) armature current will drop3m=r = %7 & ST

4) armature will oscillate about original speed as the mean
SpeedsTrT=R He e % HTHTE JEqad ol & A o HaT

Correct Answer: motor will attain dangerously high speed #ex srerera 78
I T | e T

Candidate Answer: motor will attain dangerously high speed wex smem 75
I T | A AT



QID : 953 - Inter pole winding is connected in

ST I3 FH H I &4 87

Options:
1) series with armature
= % | 07 7 2) series

with main poles &1 7 % @

oo 7 3) parallel with

armature =R & A9 GHR

4) parallel with main poles w&1 3 %
aF FAR

Correct Answer: series with armature 3fH=R & &2 201
T

Candidate Answer: parallel with armature 3m=r % @
R

QID : 954 - In large machines flat copper strips know as

WS TYF H T F A9 T F FE o &7
Options: 1)

windings

a5 2)

bushes &

3) risers
T

4) either

of thesezm @ % o

Correct Answer: risers &
Candidate Answer: bushes

QID : 955 - Lap winding is preferred for

FEF T AT TS F T & S 77

Options:

1) low current and low
voltage®q o 3 FH Feest & T

2) high current and high
voltages=d = 3t 3=7 deest & T 3)
high current and low voltage
I o 3T FA gees F a¢ 4) low
current and high voltage %= @ siit
3= qee F

Correct Answer: high current and low voltage 3= = 3k
FH Fees F Y

Candidate Answer: low current and high voltage % = 3ft
I FEEH F AC

QID : 956 - Scott connections are used for

The FARMA F TEAHT B AT FY I 87

Options:
1) single phase to three phase transformationt#a & & &
T 6 I H R F A

2) three phase to single phase transformationd % st &
THA F T H WA F AC

3) three phase to two phase transformation
T F T Y I T H R F A

4) any of the aboves 7 & %% 7

Correct Answer: three phase to two phase transformation @ & ¥ @3 %
ST W % T

Candidate Answer: three phase to two phase transformation W& ¥ €2 % 3
T & % T

QID : 957 - The primary and secondary windings of an Auto transformer are

3TZ THHIT 0 oHe AN T T8
Options:

1) magnetically coupled ==
w9 ¥ 7w g4 € 2) electrically
coupled 32 77 Tmq &d ©

3) both magnetically and
electrically coupledwaea 3t 7g aa & &7
¥ T T T

4) None of thesez & 5 &

Correct Answer: both magnetically and electrically coupled =ea 3k ag aa
o &Y ¥ T &4 §



Candidate Answer: magnetically coupled ==r#a &7 & zwa
BAE

QID : 958 - A 40K VA transformer has a core loss of 450 W and total loss of 800 W. Find the copper loss for Maximum efficiency.

40K VA = zawm 7 450 W # s 8 50 € 3t 800 W & % @ © &0 8| 374han 3800 & ¢ aa & § d Fory|

Options:

1) 350 W

2) 800 W

3) 450 W4) None of these 3 @ %% 7@ Correct Answer: 450 W

Candidate Answer: [ NOT ANSWERED ]

QID : 959 - The difference between the stator synchronous speed and rotor speeds is called

T TAFAF T 3R A F T F IR F F8 o 87
Options: 1)

leading speed @Rt

=@ 2) lagging

speed gz =1 3)

slip speed 5o ==

4) slow speedwz =@

Correct Answer: slip speed @ srat

Candidate Answer: lagging speed 9zrm

S

QID : 960 - In three induction motor maximum torque is inversely proportional to the

T 0T WX | SHTFAT STV FHeh AGHATIT & 87

Options:
1) stator voltage
w=X Fees 2) speed

of rotor =i % e

3) rotor reactancesv ST
4) decreasing slip speed
T T e

Correct Answer: rotor reactance =i ¥aed

Candidate Answer: decreasing slip speed &7 g0 =@

QID : 961 - A hysteresis motor

TEY HX-

Options:

1) is not a self-starting motor. &=

o 7 T 74| 2) is a constant

speed motor

T o A I H & g

3) needs dc excitation 38 dc 3w %
v &4 € 4) can not be run in reverse
speed 38 YaeH I A T8 I o THA
Correct Answer: is a constant speed motor @& = =&
I 7 & 7|

Candidate Answer: can not be run in reverse speed s& S =@ 7
TE T HhA

QID : 962 - In a hysteresis motor, the rotor must have

TEHY HT o U H-

Options:
1) retentivity
TALRORTE & ST &

2) resistivitywaeed &1 s 7 3) susceptibility e & & 8 4) None of these 37w & &8 7@
Correct Answer: retentivity SAeRuRTAd &1 S &

Candidate Answer: susceptibility @wera
B TEE

QID : 963 - In a split phase motor

e F T -
Options:
1) the starting winding is connected through a centrifugal switch st
TS UF HAIF % W9 F HeAd ¥ 9 &d § 2) the running winding is connected
through a centrifugal switch 3 357 tF 3175 5 &= % 7o T g &4 €
3) both starting and running windings are connected through a centrifugal
switchsmw 3t e &7 a5 U 319 % T & oA | S 74§
4) centrifugal switch is used to control supply voltagesma acest & d & & T,
U 3 e F FEAHS B I §



Correct Answer: the starting winding is connected through a centrifugal switch smw ageT

T 39 % W4 % werd 6 518 wd € Candidate Answer: [ NOT ANSWERED |

QID : 964 - Starting winding of a single phase motor of a refrigerator is disconnected from the circuit by means of a

F S F THA F S A F AR 5 F WIY § FG T § IR 2 ST 87
Options: 1) magnetic

relay == @ 2)

thermal relay aw @ 3)

centrifugal switch 319

%@ 4) None of these

FHER T

Correct Answer: magnetic relay == @@

Candidate Answer: thermal relay Tw @

QID : 965 - The motor used on small lathes is usually

B I T T He TEO

Options:

1) universal motor @&

7z ga g 2) D.C. shunt

motor D.C. e & &

3) single-phase capacitor run motortFa-% 5 YerA W HeX & ©
4) 3-phase synchronous motor

3-% & T X

Correct Answer: single-phase capacitor run motor THa-% 5 qe ™
TR EE

Candidate Answer: D.C. shunt motor

D.C.meaxzde

QID : 966 - If the centrifugal switch does not open at 70 to 80 percent of synchronous speed of motor, it would result in

75 39 Z @ 79X % 70 | 80 v deushel® 9 W 8 WeId €,  $99-
Options:

1) damage to the starting winding s

e & & € wd & 2) damage to the

centrifugal switch 319 % &= % & & #d

% 3) overloading of running winding ==&

TGS T AT E T €

4) None of these Fm @

T

Correct Answer: damage to the starting winding s+ agem & &@
TEFAE

Candidate Answer: overloading of running winding @ agem ®
SO T THA T

QID : 967 - Under no load conditions the current in a transmission line is due to

FH O F TR A T 5 FH W F O Ya8d & 87

Options:
1) corona effect
T g

2) capacitance of the linewis7 & e (&%) 3) back low from earth w&mwe 7 & 5% @ 4) Spinning reserve 3w
SISO

Correct Answer: capacitance of the line @ % =@

(wm)

Candidate Answer: corona effect #e
o

QID : 968 - If a fixed amount of power is to be transmitted over a certain length with fixed power loss, then

T I | W HH T S T TG T 7 I A FC S R 1

Options:

1) the weight of the conductor required will be proportional to the voltage

STATIS Tl % W, qeeS o AT &1

2) the weight of the conductor required will be inversely proportional to the voltage and that of power factor of the loadstawas = # W, deest 3 9 F I HF H
ST T

3) the weight of the conductor required will be inversely proportional to the square of the voltage and that of power factor of the loadsmewas =@ % R, awes &
T 3R W Ih Ak F AGHIATT &

4) the weight of the conductor will be proportional to the square of the voltage and directly proportional to the power factor of the loadsmavas e % W, aces %
T % UG N I o IR Hlh F AT &

Correct Answer: the weight of the conductor required will be inversely proportional to the square of the voltage and that of power factor of the load e e % ',

TS o T IR 9 F Ih ek % Aowrad w1 Candidate Answer: [ NOT ANSWERED ]

QID : 969 - Which of the following is a static exciter?

T T G T Th Ik I 87



Options:

1) DC separately
excited generatorDC wersa
I S

2) Amplidynetss
@ 3) metadyne wessT 4)
Rectifier

TR

Correct Answer: Rectifier
TR

Candidate Answer: DC separately excited generator
DC wesha 3asd St

QID : 970 - In cables, the thickness of the layer of insulation on the conductor depends upon

% S H, Tt T 3HAH % WA % HeS HH T AN B 77
Options:

1) current carrying capacity =

&% &a 2) voltage

e

3) power factor ¥

T 4) reactive

power SEd I

Correct Answer: voltage

et

Candidate Answer: current carrying capacity & J&% &wd

QID : 971 - In transmission line generally, the wires used are

T A 7 WO SO H S A T
Options:

1) ASCR wires

ASCR ® & & 2) copper

wires d@ & ® &d & 3) iron

wires @€ % ® &d & 4)

aluminium wires Teas=am
FRETE

Correct Answer: ASCR wires
ASCR® & &

Candidate Answer: ASCR wires ASCR
WEdE

QID : 972 - Which one of the material is used to fix the screw on concrete wall and ceiling?

% e % o SR T T 9H FEA F AT T E FH G F FAIA F T 77
Options:

1) Link clips

o W 2)

Bushings s

3) Saddles
wsew 4) Rowl

plug e wrr
Correct Answer: Rowl plug e wrt

Candidate Answer: Rowl plug @ wrt

QID : 973 - Which type of insulation covering the conductor used for low voltage?

N F0CS B TAF % A % AC FH T % FHAYA F LA H9 9 87

Options:

1) Poly-vinyl
Chloride(P.V.C) wa-a1z@ we(P.V.C)
2) Papersst

3) vulcanised Indian

Rubber(V.I.R) sewa waa wi(V.LR) 4)
Cotton and Silk Insulation #e 3k 7
FHCRA

Correct Answer: Cotton and Silk Insulation %7 it ¥
FHATH

Candidate Answer: Cotton and Silk Insulation e 3fr &=
FHCRA

QID : 974 - Cheapest system of wiring is

T F e T IUTA FA-4 E7

Options: 1) casing and
capping @ T 3 & W



2) cleat wiring

z 37w 3) batten
wiring =& @z 4)
conduit wiring &
=@ Correct
Answer: cleat
wiring

T T

Candidate Answer: [ NOT ANSWERED ]

QID : 975 - which type of wiring having very long life

Y T F T I SIG THS &4 §

Options:

1) Conduit wiring #e T

2) casing capping wiring %

@ 3R % w1 3@ 3) batten

wiring e 7w 4) cleat

wiring

i

Correct Answer: Conduit wiring %z s=r

Candidate Answer: casing capping wiring # @7 it
% T

QID : 976 - Bucholz relay is operated by

oS T FAG Fd 87
Options: 1) eddy
currents ¥R = 2)
gas pressure T8 3

3) electromagnetic induction
T I TAFA T

4) electrostatic induction
o T Aq T

Correct Answer: gas pressure Td as

Candidate Answer: electromagnetic induction a2 7a ==
RO

QID : 977 - The main consideration in designing feeders is

HS T G W T W A I T I 77

Options:

1) current carrying capacity =t

&% &ma 2) voltage drop awest

ud 3) resistance Yawer

4) transmission voltage &=ror

Feest

Correct Answer: current carrying capacity =X a8 &md

Candidate Answer: voltage drop awest
T

QID : 978 - Speed of the ceiling fan is about

T TG F A T FH & 87
Options:

1) up to 10 rpm

10 rpm 7=

2) up to 200 rpm

200 rpm @&

3) up to 450 rpm

450 rpm T

4) up to 10000rpm 10000
pPmM TH

Correct Answer: up to 450 rpm
450 rpm T

Candidate Answer: up to 450 rpm
450 rpm %

QID : 979 - The air preheater in thermal power plant is called as = 3 @ 7
T 9 IR F FE oA €
Options: 1) safety device wer 3 2)

efficiency increasing equipment
& I ITHT



3) Starting

devicestrsr gustoT

4) Very essential

devicestea FewToT ITHT

Correct Answer: efficiency increasing equipment & o
Eicaul

Candidate Answer: efficiency increasing equipment z&a us
IR

QID : 980 - In synchronous motor damper winding is placed at

T HeX | TAHEH q58T 8 o &d 87
Options:

1) stator ez 2) rotor =vrw

3) both stator and rotor

e 3 A  4) yoke 7%

Correct Answer: rotor =

Candidate Answer: stator
=

QID : 981 - LED lamp have a general life expectancy of

LED w9 % Sfa west &ad & 87

Options:

1) 1000 hrs.
1000 =z 2)
5000 hrs.
5000 = 3)

15000 hrs.
15000 =z 4)

50000 Hrs.
50000 ==
Correct Answer: 50000 Hrs. 50000 =

Candidate Answer: 50000 Hrs.
50000 ==

QID : 982 - Cutting plier use for electrical work must have

T2 AG F F F AT TAF HIT WRR T & T E7
Options: 1) High

strength =4 yeerd

2) Insulation

o™ 3) Not

corrode T weRd

4) sharp ast

()

Correct Answer: Insulation saerm

Candidate Answer: sharp @ (1)

QID : 983 - The unit of luminous flux is

o G & T 87
Options:

1) Steradian
T 2)
Candela

% sa 3)

Lumen
L

4) Lux ==
Correct Answer: Lumen &3

Candidate Answer: Lumen
=

QID : 984 - A zero watt lamp consumes

SR 9 % T H I o had @I & &7
Options:

1) No power

%9 9 3 & 78 2) About 5 to 7
W power @ 5@ 7 W 3k &
3) About 15 to 20 W power
@t 15720 W ek & 4) About
25 to 30 W power @ 25 &
30 W 3k &



Correct Answer: About 15 to 20 W power = 15 & 20
W ok

Candidate Answer: About 5 to 7 W power @ 5a 7 W
[ &

QID : 985 - A DC generator used for AC welding should have .

AC geen & @ vk DC SRt 7 &7 st 87

Options:
1) Rising characteristicssma
ST

2) Dropping characteristics
T SIS

3) Straight characteristics#st
stwae 4) None of these s &
T
Correct Answer: Dropping characteristics = smeemr

Candidate Answer: Dropping characteristics T smererr

QID : 986 - The welding electric circuit is

T IE T TS TWE
Options: 1) Always

earthed &1 o= 7 2)

Never earthed &4 + s
@72 3) Through cables

only # 3 & a8 & Wem ¥

4) None of these s & %%

T

Correct Answer: Always earthed gaer
ETF T

Candidate Answer: Always earthed w1 svs @

QID : 987 - Direct resistance heating is used in

T R T F TN FHAH F I 87

Options:

1) Electrode boiler e

@z 2) Salt-bath furnace

wee-a9 8 3) Resistance

welding s aweT 4) All

option are correct @ I

wEE

Correct Answer: All option are correct @ IaeT
wEE

Candidate Answer: All option are correct & a%ed &8
€

QID : 988 - The main drawback of resistance welding is

TRY TeeT F Ho 9 JHaY g7

Options:
1) High initial as well as maintenance cost.
RN F 3R WY T TGS F qgq SA A

2) Difficult shapes and sections cannot be welded.see 1 3R @ve % 3w 7 %4 5 @] 3) Only similar metals can be
welded. & aa THaT Ul & T 90 F S T g

4) None of these s &

w T

Correct Answer: High initial as well as maintenance cost. 31+ & 3 @

& t@tEd % agd w9 @ Candidate Answer: High initial as well as

maintenance cost. 319 % 3 7 & TaEd F Fgd S48 T

QID : 989 - The process of adding, impurities to a semiconductor is known as

AT H 3G A F oA F e o &7

Options:

)] P
olling=e

2) i
ntrusionsw@sA
o 3) pugging
w7 4) doping
T

Correct Answer: doping
T

Candidate Answer: doping



QID : 990 - In a p-n junction the potential barrier is due to the charges on either side of the junction. These charges are

P-N SEEH T, SERH & FE W F AT F a9 GHET 99 8, T G
Options:

1) majority carriers

AEHEAF TEF vd € 2)

minority carriers e &%

TWE

3) Both majority as well as minority
CAITiersTgHE M W & ST I Yo F Fe% &4 §

4) fixed donor and acceptor ions=ra ga
S T P T B

Correct Answer: fixed donor and acceptor ions

FEA 0 IR TE I & T

Candidate Answer: Both majority as well as minority carriers agaer it 7 &
ST G T F FEF 9 8

QID : 991 - The ripple factor is

A F FR TAE?

Options: 1) rms

value/DC value rms

w/DC w1

2) Peak value/DC value

@t w/DC w

3) Peak value / rms valuewrat 7 /
ms 51

4) rms value / Peak valuerms & /
TR T

Correct Answer: rms value/DC value rms
w/DC 7=

Candidate Answer: Peak value/DC value
@t w/DC w1

QID : 992 - The output resistance (in kQ) of a common base transistor, circuit is of the order of

INATS TR T T F 713292 Y (kQ o) 78 e % ga 87
Options:

1

2) 50

3) 100

4) None of thesezw & #§ 7@

Correct Answer: None of these s &

%% 78 Candidate Answer: 1

QID : 993 - For proper operation of a transistor, its collector should have

T % IA T &, TUF TUEH H & e )
Options:

1) proper forward bias

I9q T 9 2) proper

reverse bias 3= weETE

Egi)

3) very small size

s1ea s R 4) None

of these 0 @ 3 T8

Correct Answer: proper reverse bias 3=d w=raws
Eei)

Candidate Answer: proper reverse bias 39q w=ew®
Eei)

QID : 994 - What- is the characteristics of common collector configuration amplifier with respect to the input and output impedance?

T S AT A F; G 7 IS T A TR F SATAHT 77
Options:

1) Low input and high output impedance ==

a1 31 3= 7 waew 2) High input and low

output impedance 3= Fawr 3fit = T FAwy 3)

Low input and low output impedance = Fa=t

3fit = 7w waew 4) High input and high output

impedance 3=7 Taw 3R 3= T Fawy

Correct Answer: High input and low output impedance 3== Fawr it
I T S

Candidate Answer: Low input and low output impedance = 7w 3
= T Faae



QID : 995 - The speed of a synchronous motor can be changed by

AR T % =l F 6 9aa o §hd &7

Options:

1) changing the supply voltage

Tq Ieest st 2) changing

frequency @maa ser 3) changing

the load = srert

4) changing supply terminals 31aa zwe

o FETH

Correct Answer: changing frequency s seast

Candidate Answer: changing supply terminals 3@ zoaa &
TR

QID : 996 - In a synchronous motor running with fixed excitation, when the load is increased two times, its torque angle becomes approximately

T IS o HY T Il Aedehels Hel H W F T S@U SH UL SeHvT U7 TS e § I 87
Options:

1) h

alfsmg

2) t

wiceam 3)

four times
=

4) no change =%

T TE

Correct Answer: twice
Eurd

Candidate Answer: no change %% waa=
T’

QID : 997 - A three-phase synchronous motor will have

- ST dedeheieh A H-

Options:
1) one slip-ring
TF |9 T &

2) two slip-rings

T |9 I &

3) no slip-rings

%3 WY T TS T

4) three slip-ringsd & Ier &1

Correct Answer: two slip-rings g ¥ aer=
&l

Candidate Answer: no slip-rings &% &7
ENRECEUL

QID : 998 - The maximum speed variation in a synchronous motor is .

T T % el 0 FUFAH Hdd a1 &d 87
Options:
1) zerow=r
2) 2. percent
2 yawa
3) 4 percent4 wawa
4) 6 percent
6 awa

Correct Answer: zero
=

Candidate Answer: 2. percent 2 awra

QID : 999 - In a synchronous motor, the damping winding is generally used to

TR WX H aHE I5€T % Feaiel Gud FHely 9 d 87

Options:

1) provide starting torque only F e TR T Y& A F

v 2) prevent hunting and provide the starting torque g1

TH R IR T 557 F % ¢ 3) reduce the eddy currents

R Y FH FH F A

4) reduce noise level =7 @

FH FA F A

Correct Answer: prevent hunting and provide the starting torque e @ 3fit sy
AT W FH F A

Candidate Answer: prevent hunting and provide the starting torque gem & it smw
AT W A F A

QID : 1000 - In a synchronous motor which loss varies with load ?



qIFHCTH HeL H F-6 § 9L F 8L Waqd &d 87

Options: 1)
Windage loss
EeiuE:

2) Beari
ng friction lossssrr
T |

3) Core
loss# &

4) Copp
er lossaw &

Correct Answer: Copper loss @ @

Candidate Answer: Windage loss & =wor
)



